Trig - Ch 6 / Test 3 Review January 22, 2014

Homework for Test #3:

Homework #6 (submitted Wed. 01/15)
« 6.1#1-69 odd (proofs)

e 6.2 #1-41 odd

e 6.3 #1-24 all; 30-36 all; 49-93 odd

Homework #7 (due Wednesday 01/22)

« 6.5#1-24 all; 25-55 odd

e 6.6 #1-21 odd - finding solutions between 0 and 2pi

6.6 #61-69 odd - finding all possible solutions (+2pi*k)
6.6 #71-83 odd;

Examples #3,4,7,8 from solving equations handout
Test 3 Practice Problems (counts as take-home quiz!)

Test #3 - Thursday 01/23

1. Given that sina = —i .La €@l and tanb = E b € QI, find sin(a — b).
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1. Use the half-angle identity to evaluate tan = exactly. VA (—CQS@
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2. Find the exact value of cos212°cos 122° + sin 212°
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3. Find sin 26, cos 20, and tan 26 given that cos 8 = — and 0 is |n Quadrant IV.
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4. Given sina = %, a isin Quadrant Il, cos § = —E, and B is in Quadrant Ill, find sin(a + ).
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5. Find tan™? (— %) exactly in radians.
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7. Find all solutions (in radians) in the interval 0 < x < 2mw. sin?x — i 0
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8. Find all solutions (in radians) in the interval 0 < x < 2w. 2sin®x = sinx
25iCx — SinX =
SiI'x —sinxX =)
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SINX =0 2sin K~ =0
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9. Prove the identity. 3l‘ﬂ x+c052)( =
SinNTty
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10. Prove the identity. cscx — cosx cotx = sinx
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Bonus (10 points): Find all solutions (in radians) in the interval 0 < x < 2m.

sin3x +sinx —sinZ2x =0
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